
 

Find the place of the underlined 
digit: 
 
1. 345,938 
2. 457,394 
3. 834,948 
4. 374,988 
 

 

Multiplication Comparisons: 
An electric saw cost three times as 
much as a manual saw. A manual saw 
cost three dollars. How much does an 
electrics saw cost? 

Round the number to the nearest 
underlined digit: 
 
1. 984,384 
2. 456,934 
 

Multiply: 
(Use any method you want) 

1.     52 
   X 39 
 
 
2.    75 
   X 38 
 
 

Addition: 
1.  984,390 
 + 845,938 
 
Subtraction: 
1.  984,094 
 -685,905 
 
 

Multi-Step Word Problem: 
While playing a game Sarah defeated 
5 enemies with each enemy 
defeated earning her 9,702 points. If 
she traded in all her points for 7 
extra lives, how many points is it per 
life? 
 

Divide: 
(Use any method you want) 
 

1. 6,984/4 
 
 

2. 3,923/7 
 
 
** Ask your parent to choose 2 
numbers (2-20) and list the first 6 
multiples of them 
 
**Ask your parent to choose 2 
numbers and list all of the factors 
for them. 
 
 



  
 
 
A window had a length of 6 feet and 
a width of 10 feet. What is the area 
of the window? 
 
Area:_____ 
 
Perimeter:_____ 
 
A piece of plywood was cut so its 
length was 3 feet by 10 feet. What is 
the area of the wood? 
Area:_____ 
 
Perimeter:_____ 
 
Equivalent Fractions: 

 
Comparing Fractions: 

 


